BTl - AO0—% ( FERM30E4R18H HRE)

e i (A BN | &)
91,015 196,530 96,953 99,577
X 2 g i B (A BN | =)

E—HX RFE—TH 217 444 209 235
F—HX RXFEIZTH 259 453 221 232
F—HX RXFEI=TH 125 203 103 100
F—HX RFETETH 169 279 127 152
F—HX RXFETRTH 131 235 121 114
X AR H O BT 30 60 28 32
X SEHET 49 113 51 62
X A B ERET 143 250 128 122
X H SRET 189 342 175 167
X RILHT 277 611 296 315
X {sET 28 57 27 30
FE—ih X & R AT 98 238 113 125
FE—ih X R HT 89 186 92 94
F—iX W ET 6 9 4 5
FE—ih X RRET 9 23 10 13
FE—ih X #ET 3 6 4 2
FE—ih X Ao AT 215 359 178 181
FHR EES) 220 399 204 195
FHR L+ tEr 111 208 108 100
%— X AR T 4 9 4 5
FHR AR % a7 22 41 21 20
FHR ARFEET 12 23 13 10
FHR AR §RHET 244 520 251 269
FHR AL TFHT 110 287 140 147




X SRET 66 122 57 65
F—-Hx H,FHET 7 11 5 6
F—X J\IFEHET 176 323 155 168
X ZNHET 54 99 44 55
F—HX T RET 42 76 37 39
F—HX A FAHET 32 69 31 38
FE—#X ERYHET 431 849 415 434
F—HX T 75 BT 125 241 114 127
F—HX RE RHET 22 49 22 27

F—HXE 3,715 7,194 3,508 3,686

X 2 S i B (A BEN) | &)

FEHX B BT 180 376 195 181
FEHX ARF T /NERET 98 186 93 93
FEHX ARFEHT 83 177 87 90
FEHX LiECLi 308 629 279 350
FEHX E4=1i) 80 136 75 61
FE X 2R HET 85 185 91 94
FE X e T 96 192 94 98
FE X ARHEHL 1 1 1 0
FE X AF T ] R ET 77 160 80 80
FE X AFFHERHEO 85 161 74 87
FE X AR ET 524 1,049 511 538
FIWMR AFFT—TH 120 256 116 140
FIWMR AFHIH 39 80 39 41
FIWMR RFF AR 113 234 108 126
FIWMR AFFAR 59 118 56 62
FIWMR AFFAR 56 118 55 63
FIWMR FARERET 61 108 50 58
FIMR HRE—TH 102 207 102 105




EHX ERET_TH 43 89 45 44
EHX ERET=TH 130 263 117 146
X AT 122 269 122 147
FEoMX ABERT 69 155 77 78
EMX AFWTLKRHE 72 171 79 92
FEoHX W TET 21 39 19 20
EMX FARZET—TH 78 161 66 95
EMX FARKEI_TH 44 74 38 36
EMX FAKEI=TH 65 112 54 58
EHX F AR B 95 182 93 89
FEHX FARRHET 7 138 67 71
FEHX FARTEHET 190 286 132 154
FEHX FARAET 67 154 69 85

FE X E 3,234 6,466 3,084 3,382

X 2 S L B (A BHEN) | &)

FE=HR A ERAZERT 200 415 195 220
=R HAESNHH 2 4 2 2
FEoHR TEERR 183 401 194 207
FEoHR TEEERHR 232 487 246 241
FEoHR TEEXA 102 251 121 130
FEoHR A EFETTET 135 289 146 143
FEoHR TEE4E 336 735 354 381
oM TEEWER 31 70 35 35
FEWX BAEILI 175 374 190 184
FEWX BAEMETF 248 544 252 292
FEWX FEAER 115 345 166 179
FEWX THEEKR/E 404 980 466 514
oM TEEMA 91 202 99 103
oM TEERE 76 114 43 71
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FE=HX TEEER 420 994 492 502
FE=HX TEEER 44 89 44 45
FE=HK THFE/NE 485 1,075 533 542
FE=HX TEENER 11 21 11 10
FESHX TEEBR 482 1,069 504 565
FESHX TFEEAR 10 20 9 11

=X E 8,579 18,895 9,193 9,702

X 2 T & i B (A BHEA) | X&)

X Lk L) 321 603 306 297
SE i X EEFEEKXR 3 7 5 2
FEmitxX LFEEMRIE 16 30 16 14
i X LFERF 3 8 4 4
i X EFEHIR 5 7 4 3
FEmixX LtEFEEERYIR 1 3 2 1
FEmitxX C o) 48 110 56 54
FEmitxX 75 SHET 625 1,281 631 650
FEmix X HHET 229 487 239 248
FEmix = AT 526 1,084 532 552
FEmix ETHET 226 505 248 257
i X ch AR T 386 793 398 395
i X oh [T 77 171 90 81
FEmix +tEE=&ith 217 516 254 262
FEreih X L+ F & RASET 4 6 2 4
SE 00 3 X EEEZHEIIET 153 299 141 158
X L EFE=RAT 208 430 208 222
g X L EFERFER 8 19 11 8
X LEEES 101 216 98 118
F I ih X +tEFEE—/R 4 8 4 4
Fmix +tEE=/FR 9 13 8 5




FEmEX EFEATAR 23 58 28 30
FEmEX tEERO 3 3 0 3
Fmx EEEFHL 4 5 2 3
Fmtx WL+ T HT 16 36 21 15
Fmtx tEFENE 17 33 14 19
FEmEhX EEEL 4 6 2 4
Emih X A SERET 704 1,562 720 842
FEmEhX +FE=HHT 28 57 29 28
Emih X 7 A SR T 315 703 333 370
Fmtx L EEEA AT 14 22 12 10
FEmih X B 473 1,001 465 536
i X =L 974 1,868 894 974

S X 5,745 11,950 5,777 6,173

X 2 S i B (A BHEN) | &)

FERMK SRET 351 783 377 406
FERHX FE K BT 395 792 363 429
RN IEE 361 742 380 362
RN = ARAGHET 394 809 401 408
RN LA L) 391 855 417 438
RN FTEHT 822 1,507 669 838
RN = AE A2 I BT 1 7 4 3
RN ST 585 1,021 530 491
FHBX = ST 703 1,252 611 641
FHBX =R ET 977 1,749 879 870
FHBX = S AET 341 666 336 330
FERHX AFTHiE 8 19 9 10
FHBK =B H 17 46 25 21
FHBK = 1RAET /IR 73 191 98 93
FHBK B o BT 320 641 312 329




FER#RX =GR /HET 78 178 78 100
FERHX ELRAET 163 326 171 155
FERMX T ZEHT 280 543 264 279
FERHX 2N H BT 530 1,134 581 553
FERHX =T 84 203 87 116
FERHX KILET 465 1,024 483 541
ERMXE 7,339 14,488 7,075 7,413

X 2 g i B (A BN | =)
K3 X RE 1,575 3,859 1,874 1,985
KX E 1,575 3,859 1,874 1,985

X 2 S i B (A BEN) | &)
FiE#X 5iR 2,042 4,022 1,878 2,144
FiE#X KiREh 1,262 2,785 1,425 1,360
FiE#X SR 399 967 486 481
FiE#X INRER 1,130 2,446 1,233 1,213
FiE#X ic] 5] g Py = 30 49 23 26
FiE#X BEEMA=TH 21 52 27 25
FiE#X Cii] ! 1,255 2,637 1,269 1,368
FiE#X REM—TH 9 22 12 10
FiE#X REM=-TH 87 192 92 100
FiE#X REM=TH 67 134 64 70
FiE#X R 282 569 299 270
RiE#X NS 1,128 2,426 1,214 1,212
R XE 7,712 16,301 8,022 8,279

HiX 4 BT 4 i B (A) BHEA) | T
X = 688 1,247 622 625
ERBX Fh K HT 321 688 350 338
X iLIRHET 439 939 457 482
ERMX 4 EH T 469 894 507 387




< [ 3 (X JLEIHT 80 192 91 101
< [ 3 (X E i) 589 1,182 594 588
< [ 3 (X iRH 13 37 20 17
< [ 3 (X IR BT 120 274 132 142
< [ i X E—f 1,456 3,295 1,657 1,638
< [ i X b= ST 433 904 461 443
< [ i X R BET 657 1,443 725 718
< [ i X Bma 457 1,043 525 518
< [ i X =2E8 260 572 287 285
< [ i X =R ET 395 875 428 447
< [ i (X I A 543 1,097 536 561
< [ i (X 1 FHT 185 394 190 204
< [ i (X HiRH 619 1,460 721 739
< [ i (X FHREE 454 1,066 538 528
< [ i (X FRHA 1,541 3,399 1,720 1,679
< [ i (X BALET—TH 529 1,084 558 526
S E i X BRI ZTH 394 892 454 438
S E i X TEEIRT 322 659 336 323
S E i X RAEE 575 1,186 618 568
S E i X FRH 420 1,033 520 513
S E i X = BITHT 222 493 255 238
S E i X FIRET 291 684 339 345
& [ X Ry B 132 310 161 149
X = 2,905 6,397 3,154 3,243
& [ X AT 464 901 448 453
X L HT 328 777 384 393
& [ X E=Ed)) 644 1,339 688 651

=EHXE 16,945 36,756 18,476 18,280

X2 T & Lo EH(A) BHEA) | ZHEW)




KX KiE AH yE 70 174 87 87
KX KFE BRATHET 560 1,209 602 607
KX KiE BH yE 507 918 405 513
KX Xk ERH 981 2,300 1,150 1,150
KX RiE Kl 1,576 3,541 1,780 1,761
KX K FF048 136 336 160 176
KX KR AL/ 453 1,019 517 502
KX INAE 134 307 144 163
KX KiE THH 1,936 4,510 2,157 2,353
KX KR Al&EHET 26 72 35 37
KH# R K AHHET 175 361 176 185
KH# R KiE =H 584 1,150 617 533
KH# R KiE /U 79 177 95 82
KF# R KiE] @AY 1 1 1 0
KH# R KiE #HH 1,417 3,125 1,589 1,536
KH# R K =& 99 138 51 87
KR X KiE =LHT 97 196 94 102
KR X KFE BIHET 291 610 285 325
KR X KE B/ 1,393 3,152 1,540 1,612
KR X K MEE 271 600 280 320
KR X Kk BE 1,609 3,517 1,760 1,757
KR X KhE KR H 236 425 184 241
KX &t 12,631 27,838 13,709 14,129
HiX 4 BT 4 i B (A) BHEA) | T
L 20::puc] =S A 286 645 299 346
L 20::puc] =S w32 232 517 254 263
L 20::puc] =S i 1,320 2,715 1,383 1,332
R iR 375 822 398 424
R X %t 245 610 298 312




AR B 220 453 233 220
FHM XA 2,678 5,762 2,865 2,897

XA T4 i (A BN | N
FEX k3 924 2,095 1,072 1,023
FEMX By 626 1,529 764 765
FEMX ici:dis 1,385 3,213 1,596 1,617
T R 975 2,320 1,164 1,156
FEMX RAHEES 2,556 5,727 2,839 2,888
ZEmX BEXK EXAR 8 8 7 1
FEMX BEA 164 277 151 126
FRHME HiR 269 648 304 344
BRI & 6,907 15,817 7,897 7,920

X 2 S i B (A BHEN) | &)
R X A /INE 110 275 140 135
R X NAER 230 437 191 246
R X NHESF 133 303 142 161
PR X RARE 82 213 109 104
PR X RIR=E 258 614 294 320
A X & 813 1,842 876 966

HhX £ BT 4 HH B (AN) BHEA) | T
ipr: b1 FHR R 32 80 41 39
Cich-piic] = ip-pa -l 75 202 94 108
[iipi:p 178 AN 62 182 75 107
[iipi:p 178 EHAE 127 347 171 176
[iipi:p 178 FEIEAE 112 309 154 155
[iipi:p 178 FHAR 24 78 36 42
[iipi:p 178 FEHEG T 162 245 130 115
[iipi:p 178 FEIEIL R 50 137 62 75
Db 178 FEIEFIR 39 118 53 65




FiEB X E 683 1,698 816 882
X £ BT 4 HE EH(AN) BHEA) | )
[ 3 X tEH 197 463 239 224
[ X & #H 534 1,162 605 557
R X P NET 632 1,509 770 739
Rt X Kig 2,230 4,784 2,329 2,455
R X R FEAT 849 2,041 973 1,068
R X & ERAET 1,704 3,774 1,843 1,931
Rt X RETH—TH 201 445 243 202
R X [RETH_TH 256 566 309 257
R X [RETHH=TH 353 816 398 418
R X —R 376 749 356 393
R X N VN 36 74 39 35
R HE 508 1,102 556 546
R 1 JNETHT 635 1,542 767 775

R X &t 8,511 19,027 9,427 9,600
#i X £ BT 4 HH B (AN) BHEA) | T
FHMX BEE 788 1,787 928 859
FERBRK FH 554 1,362 649 713
FHMX i 604 1,165 618 547
FERBRK alll 612 1,470 743 727

FEMXE 2,558 5,784 2,938 2,846
HiX 4 BT 4 i EH(A) BHEA) | T
FH##X F#H 34 57 29 28
FH##X B AE 168 369 192 177
FH##X B L% 91 195 102 93
FH##X B Xi# A 152 A 81
FH##X Xkt 44 115 61 54
FHMX B 46 100 46 54




FH#X FH X+5 216 422 209 213
FH#X FE #& 106 208 101 107
FH#X FH /MuHE 72 139 71 68
FH#X FH O 44 76 33 43
FH#X FH NS 87 165 69 96
FH#X FH —& 96 197 94 103
FH#X FH #HH 25 44 24 20
FH#X FH KM 82 195 101 94
FH#X FH $E 74 151 77 74
FH#X FH FF 56 131 67 64
FH#X FH fitl 27 52 22 30
FH#X FH ik 51 85 47 38

F HiX & 1,390 2,853 1,416 1,437
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